Name ____________________________________________________ 

Chemistry I HD -  Chapter 9: Stoichiometry  - YET ANOTHER STUDY GUIDE!!!!! (Answers in parentheses)
Find the molecular weight of each compound. 

1.  Ca3(PO4)2  (310 g/mol)
2.  Ba(OH)2   (171 g/mol)
Convert. 

3.   4.2 moles of Ag to atoms (2.5 X 1024 atoms Ag)
4.   32 g of Na2O to molecules (3.1 X 1023 molecules Na2O)
5.    3.7 g of H2O  to moles (0.21 mol H2O)
6.   0.111 g of CaCl2 to moles (0.00100 mol CaCl2)
7.   0.50 moles of H2 to grams (1.0 g H2)
8.   79.0 g of Br2 to atoms (2.98 X 1023 molecules Br2 ( 5.95 X 1023 atoms Br)
9.    0.25 moles of KCl  to grams (19 g KCl)
Find the percent composition for each element in the compound.  

10.   AgCl (75.3% Ag, 24.7% Cl)
11.  BaCO3 (59.6% Ba, 6.1 % C, 24.3% O)
Empirical/Molecular Formulas

12.  Caffeine has the following percent composition: carbon 49.48%, hydrogen 5.19%, oxygen 16.48% and nitrogen 28.85%. Its molecular weight is 194.19 g/mol. What is its molecular formula?  (Empirical formula is C4H5N2O. The "empirical formula weight" is about 97.1, which gives a scaling factor of two. The molecular formula is C8H10N4O2.) 

Stoichiometry

13. 
Given the following equation: 2 KClO3 ---> 2 KCl + 3 O2 
How many moles of O2 can be produced by letting 12.00 moles of KClO3 react? (18.00 mol O2)
13.  
Given the following equation: 2 K + Cl2 ---> 2 KCl 

How many grams of KCl is produced from 2.50 g of K and excess Cl2? (4.77 g KCl)
14.    Given the following equation: Cu + 2 AgNO3 ---> Cu(NO3)2 + 2 Ag 

If 89.5 grams of Ag were produced, how many grams of Cu reacted? (26.4 g Cu)
LIMITING REACTANT

15.    15.00 g aluminum sulfide and 10.00 g water react. Here is the balanced equation for the reaction: 

Al2S3 + 6 H2O ---> 2 Al(OH)3 + 3 H2S

(A) What is the mass of H2S which can be formed from these reagents?  (9.459 g)

(B) Which is the limiting reagent? (H2O)

(C) How much excess reagent remains after the reaction is complete? (15.00 g - 13.891943 g = 1.108 g)
